

LINEAR ALGEBRA AND ITS APPLICATIONS

Linear Algebra and its Applications 357 (2002) 247-258

www.elsevier.com/locate/laa

# Factorial Stirling matrix and related combinatorial sequences<sup>☆</sup>

Gi-Sang Cheon<sup>a,\*</sup>, Jin-Soo Kim<sup>b</sup>

<sup>a</sup>Department of Mathematics, Daejin University, Pocheon 487-711, Republic of Korea <sup>b</sup>Department of Mathematics, Sungkyunkwan University, Suwon 440-746, Republic of Korea

Received 21 November 2001; accepted 9 April 2002

Submitted by R.A. Brualdi

#### Abstract

In this paper, some relationships between the Stirling matrix, the Vandermonde matrix, the Benoulli numbers and the Eulerian numbers are studied from a matrix representation of k!S(n,k) which will be called the factorial Stirling matrix, where S(n,k) are the Stirling numbers of the second kind. As a consequence a number of interesting and useful identities are obtained.

© 2002 Elsevier Science Inc. All rights reserved.

AMS classification: 05A19; 05A10

Keywords: Stirling number; Bernoulli number; Eulerian number

# 1. Introduction

In many contexts (see [1–4]), a number of interesting and useful identities involving binomial coefficients are obtained from a matrix representation of a particular counting sequence. Such a matrix representation provides a powerful computational tool for deriving identities and an explicit formula related to the sequence.

First, we begin our study with a well-known definition: for any real number x and an integer k, define

\* This work was supported by the Daejin University Research Grants in 2001.

<sup>\*</sup> Corresponding author.

E-mail addresses: gscheon@road.daejin.ac.kr (G.-S. Cheon), lion@math.skku.ac.kr (J.-S. Kim).

$$\binom{x}{k} = \begin{cases} \frac{[x]_k}{k!} & \text{if } k \ge 1, \\ 1 & \text{if } k = 0, \\ 0 & \text{if } k < 0, \end{cases}$$

where  $[x]_k = x(x - 1) \cdots (x - k + 1)$ .

Then the *Stirling numbers of the second kind* S(n, k) for integers *n* and *k* with  $0 \le k \le n$  are defined implicitly by

$$x^n = \sum_{k=0}^n S(n,k)[x]_k.$$

We can rewrite the above equation for  $x^n$  as

$$x^{n} = \sum_{k=0}^{n} k! S(n,k) \binom{x}{k}.$$

This expression can be represented as a system of matrix equations for each n = 0, 1, ...,

$$\mathbf{v}(x) = ([1] \oplus \widetilde{S}_n)\mathbf{c}(x),\tag{1}$$

where

$$\mathbf{v}(x) = \begin{bmatrix} 1 \ x \ \cdots \ x^n \end{bmatrix}^{\mathrm{T}}, \quad \mathbf{c}(x) = \begin{bmatrix} x \\ 0 \end{pmatrix} \begin{pmatrix} x \\ 1 \end{pmatrix} \cdots \begin{pmatrix} x \\ n \end{pmatrix} \end{bmatrix}^{\mathrm{T}}$$

and  $\widetilde{S}_n = [k!S(n,k)]$  is the  $n \times n$  matrix whose (i, j)-entry is j!S(i, j) if  $i \ge j$  and otherwise 0.

For example, if n = 4, then

[1]	]	Γ1	0	0	0	0 7	$\begin{bmatrix} x \\ 0 \end{bmatrix}$	
x		0	1	0	0	0	$\begin{pmatrix} x \\ 1 \end{pmatrix}$	
$x^2$	=	0	1	2	0	0	$\begin{pmatrix} \hat{x} \\ 2 \end{pmatrix}$	
$x^3$		0	1	6	6	0	$\begin{pmatrix} x \\ 3 \end{pmatrix}$	
$x^4$		0	1	14	36	24	$\begin{bmatrix} x \\ 4 \end{bmatrix}$	

Note that

$$\widetilde{S}_n = S_n \cdot \operatorname{diag}(1!, 2!, \dots, n!),$$

where  $S_n = [S(n, k)]$  is the  $n \times n$  Stirling matrix of the second kind [3]. We will call  $\widetilde{S}_n$  as a factorial Stirling matrix.

In many cases it is possible to obtain from a matrix representation of a particular counting sequence an identity and an explicit formula for the general term of the sequence.

In this paper, some relationships between the Stirling matrix, the Vandermonde matrix, the Benoulli numbers and the Eulerian numbers from the factorial Stirling matrix  $\tilde{S}_n$  are studied. As a consequence we obtain interesting combinatorial identities related to these numbers.

# 2. Stirling matrix and Vandermonde matrix

The factorial Stirling matrix can be used to obtain a summation formula which contains one or more summations. We first obtain interesting determinants of certain matrices in the decomposition of the Vandermonde matrix.

Matrix equation (1) suggests the Vandermonde matrix which is defined by

$$V_{n+1}(x) := \begin{bmatrix} 1 & 1 & \cdots & 1 \\ x & x+1 & \cdots & x+n \\ x^2 & (x+1)^2 & \cdots & (x+n)^2 \\ \vdots & \vdots & & \vdots \\ x^n & (x+1)^n & \cdots & (x+n)^n \end{bmatrix}$$

can be factorized by

$$V_{n+1}(x) = ([1] \oplus S_n)C_{n+1}(x),$$
(2)

where  $C_{n+1}(x)$  is the  $(n + 1) \times (n + 1)$  matrix whose (i, j)-entry is  $\binom{x+j-1}{i-1}$ . Moreover, the following LU-factorization of  $C_{n+1}(x)$  can be proved by repeated application of the Pascal formula:

$$C_{n+1}(x) = \Delta_{n+1}(x)P_{n+1}^{\mathrm{T}},\tag{3}$$

where  $P_{n+1}$  is the  $(n + 1) \times (n + 1)$  Pascal matrix (see [1]) whose (i, j)-entry is  $\binom{i-1}{j-1}$  if  $i \ge j$  and otherwise 0, and  $\Delta_{n+1}(x)$  is the  $(n + 1) \times (n + 1)$  lower triangular matrix whose (i, j)-entry is  $\binom{x}{i-j}$  if  $i \ge j$  and otherwise 0. Also applying the Pascal formula, it is easy to show that

$$C_n(x+1) = \Delta_n(1)C_n(x). \tag{4}$$

From (2) and (3), another factorization for the Vandermonde matrix  $V_{n+1}(x)$  is obtained (see [3]).

**Theorem 2.1.** For any real number x, we have

$$V_{n+1}(x) = ([1] \oplus \tilde{S}_n) \varDelta_{n+1}(x) P_{n+1}^{\mathrm{T}}.$$

For example, if x = 1, then

$$\begin{bmatrix} 1 & 1 & 1 & 1 \\ 1 & 2 & 3 & 4 \\ 1^2 & 2^2 & 3^2 & 4^2 \\ 1^3 & 2^3 & 3^3 & 4^3 \end{bmatrix} = \begin{bmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 1 & 2 & 0 \\ 0 & 1 & 6 & 6 \end{bmatrix} \begin{bmatrix} 1 & 0 & 0 & 0 \\ 1 & 1 & 0 & 0 \\ 0 & 1 & 1 & 0 \\ 0 & 0 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 & 1 \\ 0 & 1 & 2 & 3 \\ 0 & 0 & 1 & 3 \\ 0 & 0 & 0 & 1 \end{bmatrix}.$$

For any  $n \times n$  matrix A, let A(i|j) be the  $(n-1) \times (n-1)$  matrix obtained from A by deleting the *i*th row and *j*th column.

**Corollary 2.2.** For any real number x, we have:

(i) det  $C_{n+1}(x) = 1$ ,

(ii) det  $C_{n+1}(x)(1|n) = {\binom{x+n-1}{n}} \ (x \ge 1).$ 

**Proof.** (i) is an immediate consequence of (3). Noticing

$$V_{n+1}(x)(1|n) = S_n C_{n+1}(x)(1|n)$$
(5)

from (2) and

$$\det(V_{n+1}(x)(1|n)) = \prod_{k=1}^{n-1} k! [x+n-1]_n \text{ and } \det(\widetilde{S}_n) = \prod_{k=1}^n k!,$$

we obtain (ii).  $\Box$ 

For example,

$$\det C_4(x) = \det \begin{bmatrix} \binom{x}{0} & \binom{x+1}{0} & \binom{x+2}{0} & \binom{x+3}{0} \\ \binom{x}{1} & \binom{x+1}{1} & \binom{x+2}{1} & \binom{x+3}{1} \\ \binom{x}{2} & \binom{x+1}{2} & \binom{x+2}{2} & \binom{x+3}{2} \\ \binom{x}{3} & \binom{x+1}{3} & \binom{x+2}{3} & \binom{x+3}{3} \end{bmatrix} = 1$$

and

$$\det C_5(x)(1|5) = \det \begin{bmatrix} \binom{x}{1} & \binom{x+1}{1} & \binom{x+2}{1} & \binom{x+3}{1} \\ \binom{x}{2} & \binom{x+1}{2} & \binom{x+2}{2} & \binom{x+3}{2} \\ \binom{x}{3} & \binom{x+1}{3} & \binom{x+2}{3} & \binom{x+3}{3} \\ \binom{x}{4} & \binom{x+1}{4} & \binom{x+2}{4} & \binom{x+3}{4} \end{bmatrix} = \binom{x+3}{4}.$$

More interesting fact is that  $\tilde{S}_n$  can be used to derive a summation formula. For convenience, we define for each k = 1, 2, ..., n, the numbers  $Z^1(n, k), Z^2(n, k), ...$  by the recursive definition:

$$Z^{1}(n,k) = 1^{k} + 2^{k} + \dots + n^{k} = \sum_{j=1}^{n} j^{k},$$
$$Z^{p}(n,k) = \sum_{j=1}^{n} Z^{p-1}(j,k) \quad (p = 2, 3, \dots),$$

and we denote for each i = 1, 2, ..., n and for  $p \ge 2$ ,

$$\mathbf{x}_{i}(p) = \left[ \begin{pmatrix} p+i-1\\ p \end{pmatrix} \begin{pmatrix} p+i-1\\ p+1 \end{pmatrix} \cdots \begin{pmatrix} p+i-1\\ p+k-1 \end{pmatrix} \right]^{\mathrm{T}},$$
(6)

$$\mathbf{z}_{i}(p) = \left[ Z^{p-1}(i,1) \ Z^{p-1}(i,2) \cdots Z^{p-1}(i,k) \right]^{\mathrm{T}}.$$
(7)

Now we are ready to prove the following:

**Theorem 2.3.** *For each* p = 1, 2, ..., n*, we have* 

$$\widetilde{S}_{k}\left[\binom{n+p}{p+1}\cdots\binom{n+p}{p+k-1}\right]^{\mathrm{T}}=\left[Z^{p}(n,1)\cdots Z^{p}(n,k)\right]^{\mathrm{T}}.$$
(8)

**Proof.** For positive integers *n*, *k* with  $n \ge k$ , we prove by induction on n + p. Substituting x = 1 in (5) proves (8) for p = 1. Now let  $p \ge 2$ . Applying the identity

$$\binom{n+1}{k+1} = \sum_{l=0}^{n} \binom{l}{k},$$

and using (6) and (7), by the induction we have

$$\widetilde{S}_k \mathbf{x}_n(p+1) = \widetilde{S}_k(\mathbf{x}_1(p) + \mathbf{x}_2(p) + \dots + \mathbf{x}_n(p))$$
  
=  $\mathbf{z}_1(p) + \mathbf{z}_2(p) + \dots + \mathbf{z}_n(p)$   
=  $\mathbf{z}_n(p+1),$ 

which completes the proof.  $\Box$ 

Formula (8) can be used to obtain multiple sums of powers of integers. For example, if p = 1 then  $Z^{1}(n, k)$  expresses the sum of powers of the first *n* positive integers, and if p = 2, then

$$\begin{bmatrix} 1 & 0 & 0 & 0 \\ 1 & 2 & 0 & 0 \\ 1 & 6 & 6 & 0 \\ 1 & 14 & 36 & 24 \end{bmatrix} \begin{bmatrix} \binom{n+2}{3} \\ \binom{n+2}{4} \\ \binom{n+2}{5} \\ \binom{n+2}{6} \end{bmatrix} = \begin{bmatrix} \frac{\frac{1}{6}n(n+1)(n+2)}{\frac{1}{12}n(n+2)(n+1)^2} \\ \frac{\frac{1}{60}n(n+1)(n+2)(3n^2+6n+1)}{\frac{1}{60}n(n+2)(n+1)^2(2n^2+4n-1)} \end{bmatrix}$$
$$= \begin{bmatrix} Z^2(n,1) \ Z^2(n,2) \ Z^2(n,3) \ Z^2(n,4) \end{bmatrix}^{\mathrm{T}}$$

and  $Z^{2}(n, k), k = 1, 2, 3, 4$ , expresses

$$1^{k} + (1^{k} + 2^{k}) + \dots + (1^{k} + 2^{k} + \dots + n^{k}) = \sum_{l=1}^{n} \left( \sum_{j=1}^{l} j^{k} \right).$$

More generally, we obtain the following corollary from Theorem 2.3 and the definition of  $Z^p(n, k)$ .

**Corollary 2.4.** *For each* p = 1, 2, ..., n*, we have* 

$$\sum_{n_{p-1}=1}^{n_p} \sum_{n_{p-2}=1}^{n_{p-1}} \cdots \sum_{j=1}^{n_1} j^k = \sum_{i=1}^k i! S(k,i) \binom{n+p}{i+p},$$

where  $n_p := n$ .

# 3. Stirling matrix and Bernoulli numbers

The Bernoulli numbers  $B_n$  satisfy the recurrence relation

$$\sum_{k=0}^{n} \binom{n+1}{k} B_k = 0 \tag{9}$$

for all  $n \ge 1$ , with  $B_0 = 1$ , and the *Bernoulli polynomials*  $B_n(x)$  are given by

$$B_n(x) = \sum_{k=0}^n \binom{n}{k} B_k x^{n-k}$$
(10)

and satisfy

$$B_{n+1}(x+1) - B_{n+1}(x) = (n+1)x^n \quad (n \ge 0).$$
(11)

The Bernoulli polynomials are important in obtaining closed form expressions for the sums of powers of integers such as

$$Z^{1}(n,k) = \frac{1}{k+1} [B_{k+1}(n+1) - B_{k+1}(0)],$$

from (11) (also see [5, p. 199]), and it is known that the Bernoulli numbers  $B_n =$  $B_n(0)$  can be expressed in terms of the Stirling numbers such as (see [5, p. 147])

$$B_n = \sum_{k=0}^{n} (-1)^k S(n,k) \frac{k!}{k+1}$$
(12)

for all  $n \ge 0$ .

In this section, we obtain other interesting identities related to the Bernoulli numbers in the decomposition of the factorial Stirling matrix. First we prove a very useful lemma.

**Lemma 3.1.** For any integer  $n \ge 0$ , we have

$$(n+1)x^{n} = \sum_{k=0}^{n} {\binom{n+1}{k}} B_{k}(x).$$
(13)

253

**Proof.** Applying (10) and the identity

$$\binom{n+1}{k}\binom{n+1-k}{j} = \binom{n+1}{j+k}\binom{j+k}{k},$$

we have

$$B_{n+1}(x+1) - B_{n+1}(x) = \sum_{k=0}^{n} B_k \sum_{j=0}^{n-k} \binom{n+1}{k} \binom{n+1-k}{j} x^j$$
$$= \sum_{k=0}^{n} B_k \sum_{j=0}^{n-k} \binom{n+1}{j+k} \binom{j+k}{k} x^j.$$
(14)

Expanding the last expression (14) gives

$$\binom{n+1}{0} B_0 + \binom{n+1}{1} \left\{ B_0 \binom{1}{0} x + B_1 \binom{1}{1} \right\}$$

$$+ \dots + \binom{n+1}{n} \left\{ B_0 \binom{n}{0} x^n + B_1 \binom{n}{1} x^{n-1} + \dots + B_n \binom{n}{n} \right\}$$

$$= \sum_{k=0}^n \binom{n+1}{k} \sum_{j=0}^k \binom{k}{j} B_j x^{k-j}$$

$$= \sum_{k=0}^n \binom{n+1}{k} B_k(x),$$

which proves (13) from (11).  $\Box$ 

Note that substituting x = 0 in (13) gives (9). Defining the lower triangular matrix  $\widehat{P}_n = [\binom{i}{j-1}]$  by

$$\widehat{P}_{n} = \begin{bmatrix} \binom{1}{0} & & & \\ \binom{2}{0} & \binom{2}{1} & & O \\ \vdots & \vdots & \ddots & \\ \binom{n}{0} & \binom{n}{1} & \cdots & \binom{n}{n-1} \end{bmatrix},$$

gives the following matrix representation of (13):

$$[1 \ 2x \ \cdots \ (n+1)x^n]^{\mathrm{T}} = \widehat{P}_{n+1}[B_0(x) \ B_1(x) \ \cdots \ B_n(x)]^{\mathrm{T}}.$$
 (15)

Thus from (15) we obtain the closed form for the Bernoulli polynomials.

For example, if n = 4, then

$$\begin{bmatrix} 1 & 0 & 0 & 0 & 0 \\ -\frac{1}{2} & \frac{1}{2} & 0 & 0 & 0 \\ \frac{1}{6} & -\frac{1}{2} & \frac{1}{3} & 0 & 0 \\ 0 & \frac{1}{4} & -\frac{1}{2} & \frac{1}{4} & 0 \\ -\frac{1}{30} & 0 & \frac{1}{3} & -\frac{1}{2} & \frac{1}{5} \end{bmatrix} \begin{bmatrix} 1 \\ 2x \\ 3x^2 \\ 4x^3 \\ 5x^4 \end{bmatrix} = \begin{bmatrix} 1 \\ x - \frac{1}{2} \\ x^2 - x + \frac{1}{6} \\ x^3 - \frac{3}{2}x^2 + \frac{1}{2}x \\ x^4 - 2x^3 + x^2 - \frac{1}{30} \end{bmatrix}.$$

Note that  $\widehat{P}_n$  is the 'reverse' of the Pascal matrix  $P_{n+1}(1|1)$ , and the Bernoulli numbers appear in the first column of  $\widehat{P}_n^{-1}$  (also see [4]).

**Theorem 3.2.** The factorial Stirling matrix  $\widetilde{S}_{n+1}$  can be factorized as

$$\widetilde{S}_{n+1} = \widehat{P}_{n+1}([1] \oplus \widetilde{S}_n).$$

Proof. Applying the identity (see [2, p. 209])

$$S(n,k) = \sum_{l=k-1}^{n-1} \binom{n-1}{l} S(l,k-1),$$

we obtain

$$\begin{split} [\widehat{P}_{n+1}([1] \oplus \widetilde{S}_n)]_{ij} &= \sum_{k=j}^{i} \binom{i}{i-k+1} (j-1)! S(k-1, j-1) \\ &= \sum_{k=j-1}^{i-1} \binom{i}{i-k} (j-1)! S(k, j-1) \\ &= (j-1)! \sum_{k=j-1}^{i-1} \binom{i}{k} S(k, j-1) \\ &= (j-1)! \left( \sum_{k=j-1}^{i} \binom{i}{k} S(k, j-1) - \binom{i}{i} S(i, j-1) \right) \\ &= (j-1)! (S(i+1, j) - S(i, j-1)) \\ &= j! S(i, j) = [\widetilde{S}_{n+1}]_{ij}, \end{split}$$

which completes the proof.  $\Box$ 

Note that

$$\begin{split} [\widehat{P}_{n+1}^{-1}]_{ij} &= [([1] \oplus \widetilde{S}_n) \widetilde{S}_{n+1}^{-1}]_{ij} \\ &= \left[ ([1] \oplus S_n) \operatorname{diag} \left( 1, \frac{1}{2}, \dots, \frac{1}{n+1} \right) S_{n+1}^{-1} \right]_{ij} \\ &= \sum_{k=1}^{n+1} \frac{1}{k} S(i-1, k-1) s(k, j), \end{split}$$

where s(n, k) is the Stirling number of the first kind (see [2, p. 213]), i.e.,  $[s(k, j)] = [S(k, j)]^{-1}$ , which proves that the coefficients of the Bernoulli polynomial can be expressed by the Stirling numbers of both kinds.

**Corollary 3.3.** Let  $B_n(x) = \sum_{k=0}^n b_k x^k$  be the Bernoulli polynomial. Then for each k = 0, 1..., n, we have

$$b_k = \sum_{l=1}^{n+1} \frac{k+1}{l} S(n, l-1) s(l, k+1).$$

In particular, since  $s(l, 1) = (-1)^{l-1}(l-1)!$  for each l = 1, 2, ..., n + 1, we see that

$$b_0 = \sum_{l=1}^{n+1} (-1)^{l-1} \frac{(l-1)!}{l} S(n, l-1) \quad (n = 0, 1, \ldots),$$

which is equal to the Bernoulli number  $B_n$  from (12).

Comparing the coefficients of  $x^{n-k}$  of  $B_n(x)$  in both (10) and Corollary 3.3 gives the following corollary.

**Corollary 3.4.** *For any n with* k = 0, 1, 2, ..., n*, we have* 

$$B_k = \frac{1}{\binom{n}{k}} \sum_{l=1}^{n+1} \frac{n-k+1}{l} S(n,l-1) s(l,n-k+1).$$

#### 4. Stirling matrix and Eulerian numbers

For each k = 0, 1, ..., n - 1,  $(n \ge 1)$ , the *Eulerian numbers* E(n, k) are given by the sum

$$E(n,k) = \sum_{j=0}^{k} (-1)^{j} \binom{n+1}{j} (k+1-j)^{n},$$

which also satisfy the recurrence relation

 $E(n,k) = (k+1)E(n-1,k) + (n-k)E(n-1,k-1) \quad (n \ge 2),$ 

where E(n, 0) = E(n, n - 1) = 1. These numbers are one of the most celebrated numbers associated with random permutations.

It is known [5, p. 149] that the Eulerian numbers E(n, k) are closely related to the Stirling numbers of the second kind S(n, k) via

$$S(n,m) = \frac{1}{m!} \sum_{k=0}^{n-1} E(n,k) \binom{k}{n-m} \quad (n \ge m, \ n \ge 1).$$
(16)

This suggests a means of finding relationships between the Stirling matrix and the *Eulerian matrix* obtained from the triangular array of the Eulerian numbers. In this section, we find the relationships between the factorial Stirling matrix and the Eulerian matrix, and we obtain some interesting identities in a decomposition of the Eulerian matrix.

The  $n \times n$  Eulerian matrix  $E_n = [E(n, k)]$  is the triangular matrix whose (i, j)entry is E(i, j - 1) if  $i \ge j$  and otherwise 0.

For example,

	1	0	0	0	0	
	1	1	0	0	0	
$E_5 =$	1	4	1	0	0	
	1	11	11	1	0	
	1	26	66	26	1	

The Eulerian matrix is closely related to the matrix  $\widetilde{S}_n$ . First, define  $\widehat{S}_n$  to be the 'reverse' of  $\widetilde{S}_n$  whose (i, j)-entry is (i - j + 1)!S(i, i - j + 1) if  $i \ge j$  and otherwise 0.

**Theorem 4.1.** For the  $n \times n$  Pascal matrix  $P_n$ , we have

$$E_n P_n = \widehat{S_n}.\tag{17}$$

**Proof.** Applying (16), we have

$$(E_n P_n)_{ij} = \sum_{k=1}^n (E_n)_{ik} (P_n)_{kj}$$
  
=  $\sum_{k=1}^n E_n (i, k-1) \binom{k-1}{j-1}$   
=  $\sum_{k=j}^i E_n (i, k-1) \binom{k-1}{j-1}$ 

$$= \sum_{k=j-1}^{i-1} E_n(i,k) \binom{k}{j-1}$$
  
= 
$$\sum_{k=i-(i-j+1)}^{i-1} E_n(i,k) \binom{k}{i-(i-j+1)}$$
  
= 
$$(i-j+1)!S(i,i-j+1)$$
  
= 
$$(\widehat{S_n})_{ij}. \square$$

Thus we obtain the factorization of the Eulerian matrix:

 $E_n = \widehat{S}_n P_n^{-1}.$ For example,  $E_5 = \begin{bmatrix} 1 & 0 & 0 & 0 & 0 \\ 2 & 1 & 0 & 0 & 0 \\ 6 & 6 & 1 & 0 & 0 \\ 24 & 36 & 14 & 1 & 0 \\ 120 & 240 & 150 & 30 & 1 \end{bmatrix} \begin{bmatrix} 1 & 0 & 0 & 0 & 0 \\ -1 & 1 & 0 & 0 & 0 \\ 1 & -2 & 1 & 0 & 0 \\ -1 & 3 & -3 & 1 & 0 \\ 1 & -4 & 6 & -4 & 1 \end{bmatrix}.$ (18)

In particular, from (18) we get an interesting combinatorial identity which gives other explicit formulas for the Eulerian numbers.

**Corollary 4.2.** *For each* k = 1, 2, ..., n*, we have* 

$$E(n,k) = \sum_{j=1}^{n} (-1)^{n-k-j+1} j! S(n,j) \binom{n-j}{k-1}.$$

In [3], it was shown that the Vandermonde matrix  $V_n(x)$  which is defined in Section 2 can be factorized as

$$P_n V_n(x-1) = V_n(x).$$
  
Since  $P_n = E_n^{-1} \widehat{S}_n$ , we see that  
 $E_n V_n(x) = \widehat{S}_n V_n(x-1).$  (19)

Thus we have the following result from the (n, 1)-entries of both sides of (19).

# Corollary 4.3.

$$\sum_{k=1}^{n} E(n,k)x^{k-1} = \sum_{k=1}^{n} k! S(n,k)(x-1)^{n-k}.$$
(20)

Substituting x = 2 in (20) gives

$$\sum_{k=1}^{n} E(n,k)2^{k-1} = \sum_{k=1}^{n} k!S(n,k),$$

which proves the Fubini formula [2, p. 228], and noticing the Eulerian polynomial

$$f_n(x) := \sum_{k=1}^n E(n,k) x^k$$

we obtain

$$f_n(x) = x \sum_{k=1}^n k! S(n,k) (x-1)^{n-k},$$

which proves the theorem of Frobenius [2, p. 244].

We end this section obtaining another factorization for the Eulerian matrix. It is easy to show that the following corollary holds from (2), (4), and (19).

# **Corollary 4.4**

$$E_n = \widehat{S}_n([1] \oplus \widetilde{S}_{n-1}) \varDelta_n(1)^{-1}([1] \oplus \widetilde{S}_{n-1})^{-1}.$$

Thus from (18), we obtain the factorization for the Pascal matrix  $P_n$ .

$$P_n = ([1] \oplus \widetilde{S}_{n-1}) \varDelta_n(1) ([1] \oplus \widetilde{S}_{n-1})^{-1}.$$

#### Acknowledgement

The author would like to thank the referee for his (her) kind comments.

## References

- [1] G.S. Call, D.J. Velleman, Pascal's matrices, Amer. Math. Monthly 100 (1993) 372-376.
- [2] L. Comtet, Advanced Combinatorics, D. Reidel, Dordrecht, 1974.
- [3] G.-S. Cheon, J.-S. Kim, Stirling matrix via Pascal matrix, Linear Algebra Appl. 329 (2001) 49–59.
- [4] P. Maltais, T.A. Gulliver, Pascal matrices and Stirling numbers, Appl. Math. Lett. 11 (2) (1998) 7-11.
- [5] K.H. Rosen, Handbook of Discrete and Combinatorial Mathematics, CRC Press, Boca Raton, FL, 2000.